Print Your Name : __________________________ 		             		Date of Observation: _____________________





Observing Exercise


Measuring the Size of the Eyepiece Field of View





1.  Use the length of a sidereal day to calculate the rotation rate of the sky, w.  Express your answer in arcminutes per second ('/second).  Show your work.  Use a pencil for all lab exercises.














										      w = ____________________





2.  Find a star that is within 20° of the Celestial Equator.  


 						Name of the Star : ____________________


				   Right Ascension of the Star : a = __________________


					 Declination of the Star : d = _________________





�3.  Center the star in the eyepiece field of view.  First use a ~26 mm and then a ~18 mm eyepiece (if available).  Note that eyepieces with shorter focal lengths generally have smaller fields of view.  This will result in shorter drift times.














�4.  Then move the telescope west until the star is at the edge of the eyepiece field of view.  On most telescopes with hand paddles, the left button moves the telescope west.  














6.  Locate a digital watch.  Turn off the power to the tracking motor and measure the length of time required for the star to drift across the field of view of the eyepiece.  Record your results below.  Take three readings and then compute the average time.


�						t1 = ________seconds	   


�						t2 = ________seconds           


						t3 = ________seconds		


	Average Drift Time for the Star : tave = __________seconds








7.  Using your results above, compute the angular field of view of your telescope.  Express your answer in arcminutes.





Angular Field of View = w tave cos d = ______________________________________________________





What is the focal length of the eyepiece that you used for this exercise?  ______________  (include units)








Questions


Use complete sentences for your answers.  Your answers must be clear.





1.  Would the full moon fit in the eyepiece of that you selected?  Explain.




















2.  Think about what you would see through a long focal length eyepiece such as a 26 mm eyepiece and a shorter focal length eyepiece such as a 12 mm eyepiece.





	(a) Which would give you a higher magnification?		________





	(b) Which would give you longer star-drift times?		________





	(c) Which would have a larger field of view?			________





	(d) Which would be better for planets?			________





	(e) Which would be better for galaxies?			________








3.  If we moved the observatory to Philadelphia, then how would we have to change the telescope mount?  (The latitude of Philadelphia is about 40° North.)






































4.  What is the purpose of the tracking motor on your telescope?  In other words, what really causes stars to drift through the eyepiece with the motor is not on?  Explain.





























